
2,ul{ty{urb 1
rn{urb L

L U t u U 2 U C F q
.bphublr h.186 hllltrur\urtr lupng, AOUrr-lt

2016P. t\ur rruhhrb m burluutPlr

I bquunf'SLbf' urlq prlnut,
1 Umpuffiurl|rg, nplrg'

I,t trhrulnurl{utr\ppntFtntirils

1,2 4uuuqnptFtrquFdurqdunFq,Dbhuursntrlt's
2 -{ur1&u{urlmplmhlrg

3 UrqruuurfirtutrL\nrlmtrurlhullulldurptrLfirg

a U\rnlr{trhp}rhr{tpurptpffl2traphLtlbg

5 Furhqb;Unubg

6 U11h\uninunLtpfg

CL'IUUbr,C br{Uunt'SLbr

II OUFrUbf' urr4 rr DL ,
I U2luurroulqu+db q6orl, npfg

1,1 LtFunul\uir qFpntplutu huuulhptrtFb q.D{

1,2 quFqLu.ruFlub qbnq

2 9linmg rutr qbn{

J h1t\urpruttrhpqlrurlf qbn{

4 Qprtmq-\nprqm qbnrl

5 Ury:urhrut-nplurh-qbn{

6 UluururpurhmpluhqEn{

7 \urqlr qbn{, ur14 p{mrl'

7,1 purdurbp4ulfb {dup

7,2 Fnqtulqdurl

7,3 irLutFlhu' \ui'q

8 Stlnluu\urh uqfurbphLl[r qbnrl

9 $puruttrlu.r\ur1]rtrulqpruhpLhplrqbn{

l0 Unurquriru2 umurp\utrtlf qbn{

11 nrum hur\urb Llmptpf qbn{

12 ULl4|r qtn{

13 SnurLuuiopub qbnrl

14 Chpruglr\r{tprut.npnqrfruirqEnrl

15 gtnmgrlurhhrurlur\rupqlruquuurp\rfurhqbnrl

16 Uquruurp\rturhh\nttmhrulhulhurldurptrhplrqEn{

152289,3
28a47,O
219,0

24,0
20,0

3860,0

92,4

260,9

156547,0

1t6357,6
13852,4
1000,0
6500,0
1700,0

312,3

290,0

24,0

373,8

v2,a
135,0

95,0

609,0

819,9

95,0

169,5

6505,7

2700,0

1.4049,l

480,0

20,0



17

18

19

20

2 l

22

23

24

, 5 |

26
27

2a

$tror lrtplr hrurlu\urpqqlr 8urnurlmplurh q6n{

2ullu.r\u4qu4frh uqruuutplltiut qbn{

h. uull1urqpmldlurtr qbnrl

lurluurpulnryprLLkplr qEnrl

Furdortaplurqnplurh qbnrl

{tpu{quurpuruu[turh qbml
'Iuuurqpptplr rlurp&ulldurplr rlrrluhuurng urtr q6ml

.{huu}r rlinluhururmgrlurtr qbn{

Z[rdhurUufu rf]rgngttpfr rtur2rlubnLplutr qbnrl, np]rg

ulrrhrulnqs uuusqut

?rlraluhruuoqrlnrl hurp\tplr tr ru11 uluguu$p tlduplrt$ qbn{

Crubrpurhurp\|r q6n{

Ui1 burur_lmplmLhtpfr h bruluut$ qbn{

eL.IUTJbLC OUtuUbf

tunrzfnh Lutuuqu2,'

100,0

200,0

3,0

20,0

17,1

88,9

219,0

86,4

3860,0

1680,0
20,0

?3.4
903,3

156547,O

4
6b*r-

Lunbfu uuraurSuL

SLOfttU

qLtuU.UIf ZUCqU4TUZ

/ ulDlh, uqqulDltt

IrutFLb en2urSuL

r/z: UUS.l.hq znr{UULLhUgUL



2u:r{t1lu6 2
u{ub t

h*h

6p.

p

L U n T U Z U C h i { ,
rrbptuhlt plt{ 186 h} hu\urh lqpng,} clnUr{-l

'. 2016p. tllurdurl$rL b2nghtph bnuptpb

'/r 2n4{ut[ ulnluttu p
2016p. runptn h tlltp

I -lrt tDudulur! 6u  b r 9 lultbu surrt\utu

I
'Ilur urlph [2ngttplr urqr.:ln dturgnp4g
hu2dtunt dwluLurJiur2r2uirh u\q1{ r

1625,7 T68,7 1625,7 1O5,7

tl
fll4ur tLg qrurlur\urh rllr2nghtplr rlnungtp
urtn pl]nlu 28828,1 65239,5 342,2 152975,4

1 u -ruhl}llu{l$, nd€' 28457,3 64772,5 926569 r52289,3
,1 !brorulult llt'p!lplu! qbo{ 5250,1 t2433,0 19615,9 288179

,2 quuuquh ,{q uq6q,h $Dfllum$nldlg 0,0 0,0 219,0 219,0

2 {un^1rqurrllr,ptntt+s 9,6 16,0 2a,a
3 Uururuu,ntJuru h tD Eltur hudu dunhhnhq 0,0 10,0 15,0 20,0
4 .}bllluqruUufi ulullluptFlg 284,O '284,0 2U,O 2840

5 Futrli! vmrtnubg 12,0 25,6 51,2 92,4

6 UJt Dluptd€ t30,4 316,8 2&,9

II
f:b4ru ttt! 4ttrduqutr dhi'Irgtrtplr tg:t1r, -J'l
prlnut 30270,4 66689,9 94n\2 1520s1,s

tt) Etlrugtrq,urnp{ 
'

n270,4 66689,9 94771,2 152051,5

u2luuuuqur!^b qEDq, nFbs 22992,9 48318,0 74368,2 116357,5

,1 ilhtunuUutr l$FDrFJut huuulrltrhnl qtu{ 2304,7 5777,4 92349 13852,4

2 1000,0
2 gtrD1g ut qbftl 4300,0 4300,0 4300,0 6500,0

3 trtlurutthl4llllrJb q&n{ s60,0 790,O 1140,0 1700,0

4 aF{n'.q-qljDutlt qE$l 118,0 200,0 300,0 312,3

5 tfuUruhlrllnlplutt qEDq 245,O 290,0
6 uluuuFut!'rptul q6!q 24,O 24,O 2L0

currql' qhrq, u{r p{DuI' 62,3 193,6

,1 rudutDl'rluJlt! {dut 23,8 47,6 7t,5 142,8

,2
,3

22,5 44,1 66,1 135,0

16,0 40,0 56,0 960

sLutftiUrjlt urulrrutpltFb qbiq 152,2 380,0 580,0 ffi,0

cruutLtuUullft uqFuhpltbb qbaq 205,0 500,0 720,O 819,9
0 uFEqutjul2 lllrunqurthnb qbn'l 95,0 95,0

I nluff ltorUut tuJnlptl{r qbrq 42,4 84,8 169,5

2 Utl'lb Sbn'l 946,2 t992,4 1992,4 650st
3 spulut{DFu{, qtD{ 510,0 1020,0 t27s,o 27N,O

4 Chpusl l.'ltnltltulll'nq'Iuit q8!rl 50,0 8300,0 4350,0 1u49,1
5 abmo urh hudulturnqh uulnuun! utqEo! 100,0 250,0 480,0

7 uquuut\tluh L \D ELturhu rrqdurntuLFb qhlq 5,0 10,0 15,0 20,0



18 qll[lLlrLlhhu ulurlqftlhbunutorptruLqbn'l 100,0

l9 2u ulrutq:ulbl tquuuplt uL qbnq 10,0 70,0 120,0 200,0

20 h.uunluqiDLpjut q6oq 3,0 3,0 3,0 3,0

2l 2ululunu4nwlortttFb qtnq 6,0 12,0 18,0 20,0

22 FDdutlnquqllalplutr qbnq t7,1

23 {tFuqurnluuu ut qtbq 18,0 %,0 72.0 88,9

'huuerrptnbqu uqduFb+nFnuunrgdul9lq! 219,0 2r9,O

25 .{tuuh +nluhru s ull qbnq 14,4 36,0 64,8 ,4

26 qhlrnFt- tu{Fq! ulqu utlduF 36,0 36,0 36,0 36,0

2:7 AuFUU{Ift qutuuqnl)nlplD rthtll qh{ ul4 pqnl{ 12,o 24,0 36,0

27,1 11,6 11,4 23,4

27,2 Lru2-! qln'l 1,2 2,4 3,6 4,8

rrldunu@Ls{Drl hutUlltl u u[ qurnudln 'l6uFtnl qrnq 5,0 10,0 1 5 0 20,0

28 qrt4bmluqut r{urtDpb ut uL qbnLl 227,0 227,0 227,O 227,O

s) \mrnur\rlurb 2ulnqpf rltrugnlq!
oqururq4plntrl, ur14 pr{nul

0,0 0,0 0,0 0,0

+) uqrur urh $ntqlr oquurq Fbnld, urlq Fqmd 0,0 0,0 0,0 0,0

w
'Ipullur\urb fgnglrtpfurquru UurgnFI}E
hur2qhnl d-ur urtur\u2t2uLf {tp2ftr

183,4 175,3 196,7 2550,0

tuorzr-Ih r,utuusuz'

s.|"ofbL'

ql.Iuu.tnf 2Ud.IU'rlU2 uUS.Ir'q 2nqzuLl"I'U3UL

Itqc:), .- .

f'z\\"
\Yr'ai;


